
Imre Pal: Schwächung der Grundreihe

Schwarz am Zug Weiß am Zug 

Weiß am Zug Schwarz am Zug

Weiß am Zug Schwarz am Zug
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Imre Pal: Schwächung der Grundreihe

1. ... Txd4! 2. Sf3 (DxT? oder TxT? Dc1 mit #) 
Texe4  3. Ta1  TxD

1. Tc7!!  DxT (Df8? Txg7 Sc6  Tg8++ KxT  Dh8+ 
Kf7  Dh7+ Dg7  DxD#) 2. TxS! TxT 3. DxD

1. Lc6! (Kreuzfesselung der De7) 1. ... Ld4+!!  2. DxL  Se2+!  3. Kf1 
(SxS? De1#) SxD

1. TxS+  KxT 2. DxT+  fxe5  3. Tf8 mit # 1. ... Dc3!! 2. Db1 (DxD? Td1+ mit #) Df3
3. Tg3 Td1+  4. DxT  DxD+
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